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This question paper contains two parts — A and B.
Part A is compulsory for all.

Part B has two options — Analysis of Financial Statements and
Computerized Accounting.

Attempt only one option of Part B.
All parts of a question should be attempted at one place.

" <h
(TS AT qUT AT & e St
PART A
(Accounting for Partnership Firms and Companies)

ST QAT AT 4 1.4.2014 i Th FEGERT BH s | 1.1.2015 I @9 &

%m%mﬁﬁﬁﬁmﬁ@wmm|ﬁﬁwﬁmm

ST AT WIEAT & SE-SE [l | ST, WIEAT AT /IR 1 F91 AT
UM 4 :3: 3 AT | HEEK! SHId THIY AT qAT TS o AT U hl
TOET KT |

Anurag and Bhawana entered into partnership on 1.4.2014. On 1.1.2015

they admitted Monika as a new partner for %th share in the profits

which she acquired equally from Anurag and Bhawana. The new profit
sharing ratio of Anurag, Bhawana and Monika was 4 : 3 : 3. Calculate the
profit sharing ratio of Anurag and Bhawana at the time of forming the
partnership.



2. <, BrE@ a1 fofcll T ®H § ATSIGR & @7 3 : 2 : 1% T4 § 9 died
¥ | 28.2.2015 I HEE 1 BH T TN T fhAT | BE@ & JTHT TE
Hd THT HEAR Afdgfd F=F § T 12,000 H1 I A1 RSeh 39 sTEwHhdl T8
off | ®EE % EH T Hid W Ig THT 1
() wft AR o Yot @rdi o A H I A9 31U | forelt St |
(@) =oft AT o Yot @rdi o HT § 39 oy iuTa | forelt St |
(M) <rues e el < ISt @ral o ST H I oy SAuTd § ot St |
(F) g W Yot @rd o s\ § foeh St |
Deepak, Farukh and Lilly were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. On 28.2.2015 Farukh retired from the firm. On Farukh’s
retirement there was a balance of ¥ 12,000 in Workmen’s Compensation

Reserve which was no more required. On Farukh’s retirement this
amount will be :

(a)  Debited to the Capital accounts of all the partners in their profit
sharing ratio.

(b)  Credited to the Capital accounts of all the partners in their profit
sharing ratio.

(c) Credited to the Capital accounts of Deepak and Lilly in their profit
sharing ratio.

(d)  Credited to the Capital account of Farukh.
3. 9 % g1 1 3 G | 1

Give the meaning of forfeiture of shares.

4. Tuar fafee 3 T 10 I8 & 6,750 HAT I o EE o fw 3maed
i fre | afy 1 goer @ 2 o -
AEET W — T 3 Ui A
A W — T 5 Ifd 379
T qe 1f| IeET W - T 2 Ufd 31w

vt 37ET < foTu oTTde W &1 ¢ | g 5 250 M b foTQ SAee fopam e
AT 3T AU I ST e b WA ¢ @ | Wil T 175 37 b foAw AT9IEH
ToRe Qe 3UA TS o TTY 3TMEeA UMM 1 ft YA L T | 3Teed o 9w

7o TS oft - 1
(%) < 16,750
(@) < 16,000
(M) 19,250
(7) 22,875
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‘Samta Limited’ invited applications for issuing 6,750 equity shares of
T 10 each. The amount was payable as follows :

On application — ¥ 3 per share

On allotment — ¥ 5 per share

On first and final call — ¥ 2 per share

The issue was fully subscribed. Subhash applied for 250 shares and paid
his entire share money with application. Moti applied for 175 shares and
paid allotment money also with application. The amount received with
applications was :

(a) ¥ 16,750
(b) ¥ 16,000
(c) T 19,250
(d 22,875

ST a7 formet U BH T ATSIR 9 qAT 3 : 2 % UG § A9 died & | A9
%m%mﬁqﬁwwmmmw | SN % YOS W BH 1 Rl
Toraor 3Heh AU-BIH @1 % S| H T 10,000 T AW ST L@ o1, SRl @it
BH & AQITA 4 HHA 9T foaqd & 9 hl O HL & | 9= BH &A@ o
AT-ETH @Td o AT T & @Ik b1 2 9f¢ F7 a1 SRoT G qen afg &
@ TE o T |

Kamal and Vimal were partners in a firm sharing profits in the ratio of

3 : 2. Ghosh was admitted as a new partner for %th share in the profits.

On Ghosh’s admission the Balance Sheet of the firm showed a credit
balance of ¥ 10,000 in its Profit and Loss Account which was debited by
the accountant of the firm in the accounts of Kamal and Vimal. Did the
accountant give correct treatment to the balance of Profit and Loss
Account ? If ‘yes’ give the reason and if ‘not’ give the correct treatment.

TTER! Th@ o 3T H HTEIGR o TR0 T TS TRMEAT 1T &
(i)  6%aTis T H |

(i) 9% AT T H |

(i) 12% @t R F |

(1v) °|'>|£ SN qﬁ STITAT SITdT |

In the absence of partnership agreement, interest on drawings of a
partner is charged :

) at 6% per annum.

(i)  at 9% per annum.

(i) at 12% per annum.

(iv) no interest is charged.




7. 9FE oI % MR % oAfafck W feeal i 3ewEl @1 3o whifsig fSrees
o wiayfa sfiem <1 9= foRam ST weha 2 | 3

State any three purposes other than ‘issue of bonus shares’ for which

securities premium can be utilized.

8. ‘TH QAT S’ UH WH ok GIHPER ¥ qAT 3 : 2 % U H AW died o |

31.3.2014 =i 3T feufa foewor fe= gepr o - 3
. PURll . Tfsr
R - gt -
gl : T 1,30,000 fafire
o 2,30,000
a5 1,00,000 2.30,000 iteseasiiop]
2.30,000 230,000

31.3.2014 %! THT §T ¥ &1 9 T 85,000 A1 & HIEERI § ST W 12%
gfqad = qen ‘T w1 T 750 SfqHtE daq e feer ste fear mn | 99 &
SN ‘T 9 T 18,000 TAT GTE’ H T 9,000 HT HTE [T |

39 3TLG I g B oh oTC T UeHm=n wfaf® € |

X and Y were partners in a firm sharing profits in the ratio of 3 : 2. On
31.3.2014 their Balance Sheet was as follows :

Liabilities Amgunt Assets Amgunt
Capitals : }; i,ig,ggg i:;leﬁy 2,30,000
1,00,000 15 54 500
2.30,000 2,30,000

The profit of the year ended 31.3.2014, ¥ 85,000 was divided between the
partners without allowing interest on capital at 12% per annum and a
salary to X at ¥ 750 per month. During the year X withdrew ¥ 18,000
and Y ¥ 9,000.

Pass a single journal entry to rectify the error.

67/2/2 5 P.T.O.
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rfiud soiehed fafies’ wreett & 3Icures aon fFatas 2 | o 4 S @
&faed §Y IR o dr= el § 1,000 HFEA GH dfed H1 o forn | 561 3
Tidl % 100 FISEHI I Gd o T | TA1Uq il I arelt Aa 985 B
H Ao W A o Wt Froi foren | 98 el W foTg oA S sTraedeRdal i gfd
7 S 4 T 10 I % 1,00,000 FHAT M qAT T 100 T&h % 2,000, 9%
o <l Wi o fasharsti vt fifia forem | wefedt =1 a1 = 12,00,000 H
IERIEIRIHI

HEOT 6T TEqehl T ITYH el o folu, ragereh Ustrm=n yfafsear Shifse qen
g el T qou Y vgem Hifve {8 wroft aurs 1 wufva e =mEd @
‘Panipat Blankets Limited’ are the manufacturers and exporters of
blankets. The company decided to distribute 1,000 blankets free of cost to
five villages of Kashmir which had been damaged by the floods. It also
decided to employ 100 young persons from these villages in their newly
established factory at Ludhiana in Punjab. To meet the requirements of
funds for its new factory, the company issued 1,00,000 equity shares of

T 10 each and 2,000, 9% debentures of ¥ 100 each to the vendors of
machinery purchased for ¥ 12,00,000.

Pass necessary journal entries for the above transactions in the books of
the company. Also identify any one value which the company wants to
communicate to the society.
e fafies’ = 8,00,00,000 i 31frRd gSft, ST T 10 T3 % 80,00,000
3 H fawee B, 9 USfisd 8 | FOHT 9 1,00,000 3791 I T 2 AT AN &
fiftem o frifia ferem | TfST 1 wohR & < ot

e W — T 3 Ufd 379

A& W — T 5 Ufd 1 (fiftm afza)

T qAT A=W IEET W — WY
gt Ir=ATE | ot TS a1 UTed | TS, kel ST I Bige, ek 9@ 1,000
1% A, o g g Afqg A=At 1 YA T8 R |
O UM, 1956 1 T VI WIT 1 TFER T Yol i FHFoT o fedfd
foeor § weqa i |

‘Telecom Limited’ is registered with an authorized capital of
T 8,00,00,000 divided into 80,00,000 equity shares of ¥ 10 each. The
company issued 1,00,000 shares at a premium of ¥ 2 per share. The
amount was payable as follows :

On application — ¥ 3 per share
On allotment — ¥ 5 per share (including premium)
On first and final call — The balance

All calls were made and were duly received except the first and final call
on 1,000 shares held by Asha.

Present the ‘Share Capital’ in the Balance Sheet of the company as per
Schedule VI Part I of the Companies Act, 1956.

6



11. 9, a1 9 W Th BF § GIEieR & A7 2: 2 : 19 G H A1 sied o |
31.3.2014 ! 31 feufa feemor f wepm ot -

. T . T
gamd - grgft =
TER 27,000 | Uhg 22,000
o faa 25,000 | IGR 17,000
T T RO 15,000 | 9= foret 7,000
g LT 12,000

am 45,000 i 80,000

e 50,000 95,000 | G i Sf 24,000

1,62,000 1,62,000
31.12.2014 % Y &1 @ & T | TEEK Ho@ H§ gae TEER %
fsqresnt & fou fmr 2w 2
(%) wH FI wfa ¥ gt wm, St e w1 % fUse 9 ) Wl & ofted

@AY S A TAT o SR h ST | BH o S IR aul % @™
HUT: T 2,00,000; T 2,50,000; T 2,75,000 AT T 3,00,000 & |
(@) 3G I & 99T T B & AW H TR AT, TRt AT fUsd =R
gt o T AT o YR W I AT |
(M) St @I % ST Y W, IS HE 7, 12% AMh S |
(") 3% FI W 12% ¥ A |
Y o FSaTgehi ol Tgd A < ToTT IHehT ISt @raT dIR T |
Som, Sudha and Surbhi were partners in a firm sharing profits in the
ratioof 2: 2 : 1. On 31.3.2014, their Balance Sheet was as follows :
Liabilities Am;“nt Assets Amgunt
Creditors 27,000 | Cash 22,000
Bills Payable 25,000 | Debtors 17,000
Surbhi’s Loan 15,000 | Bills Receivable 7,000
Capitals : Furniture 12,000

Som 45,000 Machinery 80,000

Sudha 50,000 | o< 100 | Surbhi’s Capital 24,000

1,62,000 1,62,000

67/2/2 7
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On 31.12.2014, Surbhi died. The partnership deed provided for the
following to the executors of the deceased partner :

(a)  Her share in the goodwill of the firm, calculated on the basis of
three years’ purchase of the average profits of the last four years.
The profits of the last four years were ¥ 2,00,000; ¥ 2,50,000;

T 2,75,000 and T 3,00,000 respectively.

(b)  Her share in the profits of the firm till the date of her death,
calculated on the basis of the average profits of the last four years.

(c) Interest @ 12% per annum on the credit balance, if any, in her
Capital account.

(d) Interest on her loan @ 12% per annum.

Prepare Surbhi’s Capital Account to be presented to her executors.

S, el qeT g T BH § ATEIeR 9 | 3okl SR gSh off - S T 4,00,000;
Tl T 6,00,000 AT 78 T 10,00,000 | F IS % AU H AW died & | B
T4 g8 % Icqre T foawor b1 g et off | dreeil doe ¥ St W
10% Jfdas SaTS ST TE9™ o1 | 31 HTE 2014 1 G0 §C oY H FH HT A9
¥ 1,47,000 °T |

T S Roqult =l Tose &9 | &¥Md §Y BH 1 9B FaRISE @ dum
HITT |

Jain, Gupta and Singh were partners in a firm. Their fixed capitals were :
Jain ¥ 4,00,000 ; Gupta ¥ 6,00,000 and Singh ¥ 10,00,000. They were
sharing profits in the ratio of their capitals. The firm was engaged in the
processing and distribution of flavoured milk. The partnership deed
provided for interest on capital at 10% per annum. During the year ended
31st March 2014 the firm earned a profit of ¥ 1,47,000.

Showing your working notes clearly, prepare Profit and Loss

Appropriation Account of the firm.



13. <YSI, I8 aAT 9o TR & q91 3 0 2 : 1 o AU H oY dfed o |
31.3.2014 ! IRl HH 1 faeed & w1 | gruiai o o= fem m qen
SIS T YA L G T | @I 3 FgS! @1, dIeieii o Yot @rd a9
Tehe QAT aIR fohT Tirg 37 @Tdl § $& TR 6l Gt T S T |
3 e few o Erdl § g ufin A @d s 32 qu i |

Yt @rat
am ST
o T o T
T T
I qAT w0 1,60,000 | fafim S eR 1,50,000
ieh 1,50,000 | i<t =9t 1 0T 1,30,000
fafi e1er 2,00,000 | FUHT AT T HIeR0T T 12,000
gded s 4,000 | Z&d T < T yrag™ 10,000
Uhg @I
IECH) 30,000 ‘ ‘
(uferafaat o1 fasha)
Jr9eT 1 Yofl @ w9 1,00,000
(sftmreht =raeT w1 kor) | 1,30,000 wWie  1,20,000
Uohg @A (SFATERa forer) 50,000 TR 1,60,000 3,80,000
Uhg @l (SER) 1,50,000 | =9t T Y5t @rar (faw) 20,000
Uehg WAl (549 8000 | e
8,82,000 8,82,000
Ui & Yt @
amm L
EIRE EIRE) qed
o . KUK A r— : KUK
< < 3 < < <
e @Al
20,000 3y = @
(frawr)
CLGIRCIN]
...................................... 1,30,000
(3RT)
2,30,000| 1,50,000 | 30,000 2,30,000 | 1,50,000 (30,000
67/2/2 9 P.T.O




am S
T T
o - feraTm -
.................... et @ (3FTEia fora) 50,000
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.................... ELENIRCIGINEIRERGE LY 1,50,000

g 1 doft @ 10,000 | e,
=TT <l gofl @ 1,20,000

T8 <1 goit @rat 90,000

4,18,000 4,18,000

Chopra, Shah and Patel were partners sharing profits in the ratio of
3:2:1.0On 31.3.2014 their firm was dissolved. The assets were realized
and liabilities were paid off. The accountant prepared Realisation
Account, Partners’ Capital Accounts and Cash Account but forgot to post

few amounts in these accounts.

You are required to complete the below given accounts by posting correct

amounts.

10



Realisation Account

Dr. Cr.
Particulars Am;unt Particulars Am;unt
To Plant and Machinery 1,60,000 | By Sundry Creditors 1,50,000
To Stock 1,50,000 | By Mrs. Chopra’s Loan 1,30,000
To Sundry Debtors 2,00,000 By Repairs and Renewals 12,000

Reserve
To Prepaid Insurance 4,000 | By Provision for Bad Debts 10,000
To Investments 30,000 | By Cash A/c — (Assets sold) :
To Chopra’s Capital A/c Plant 1,00,000
(Mrs. Chopra’s Loan) | 1,30,000 Stock  1,20,000
To Cash A/c Debtors 1,60,000 3,80,000
(Dishonoured Bill) 50,000
By Ch ’s Capital A/
To Cash (Creditors) 1,50,000 | 0 opras apital A 20,000
(Investments)
To Cash (Expenses) 8000 | e
8,82,000 8,82,000
Partner’s Capital Accounts
Dr. Cr.
Particulars Chopra| Shah | Patel Particulars Chopra | Shah | Patel
< < < < < <
To Realisation
(Investments) 20,000 By bal. b/d
By
........................................ Realisation | 1,30,000
(Loan)
2,30,000/1,50,000 | 30,000 2,30,000 {1,50,000( 30,000
67/2/2 11 P.T.O
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Cash Account

Dr. Cr.
Particulars Am;unt Particulars Am;unt
.................... By Realisation Ale | 40

(Dishonoured Bill) ’

.................... By Re?éﬁg;’; Creditors) | 1:50,000
To Patel’s Capital A/c 10,000 | e
By Chopra’s Capital A/c | 1,20,000
By Shah’s Capital A/c 90,000
4,18,000 4,18,000

1.4.2013 <l HIgd 1 Higd ¥ G U 1 AGGR Hd & 10 Th arEiei) w
FAE | g 9 T 1,00,000 TAT TiET 7 T 50,000 ISt 0 | Fifeh T A
HaA T 50,000 FH S TE, Tg GHar g foh @ off IS I SAeRERAl
B 98 ik ISt @ | ST YSit <hl A SATE9hdl BT a& &g ol Isil
T STEW A hl IFgwfd Wi & 78 | 31.3.2014 I THTG gL I H @A A gSf
ER R RE IS ISICCRUNESUIERC RS CAICI U RC )

fafar ISt omTg i 1 TR

01.5.2013 10,000 —

30.6.2013 — 5,000

30.9.2013 97,000 —

01.2.2014 87,000
HTHER] T o AR ISl T 6%91%@3‘%’33{@@13—[2?1% |
Treerl Y gt W s Y o hifs |

On 1.4.2013 Mohan and Sohan entered into partnership for doing
business of dry fruits. Mohan introduced ¥ 1,00,000 as capital and Sohan
introduced ¥ 50,000. Since Sohan could introduce only ¥ 50,000 it was
further agreed that as and when there will be a need Sohan will
introduce further capital. Sohan was also allowed to withdraw from his
capital when the need for the capital was less. During the year ended

12
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31.3.2014, Sohan introduced and withdrew

capital :

Date
01.5.2013
30.6.2013
30.9.2013
01.2.2014

The partnership deed provided for interest on capital @ 6% per annum.

Capital Introduced
10,000

97,000

Calculate interest on capitals of the partners.

s wrged fAfes’ #1 gSiehr T 40,00,000 hT USihd IST, ST T 10 TRH
% 4,00,000 THAT AT H 9wk off, § g3 o1 | FFFT 9 1,00,000 =0 H1
foefe fopam g1 o e o 2007 — 08 % oW 364 T 3 Wfd 3T % AH H
YA foram | R & YEE9 | 399 SH-SHTT Il 1 AT o <@ ol (A
HH H i o | sifafcr fo i smawaehar &t U & W fow weot
ol weiges 3 fewe qvea & gue F=fafaa 9 fawes W@
(i) 1,54,000 3790 1 TH-goF W e |
(i) Toxit@ IAM ¥ 5 a9 & fI€ T 15,40,000 T k0T fof=1 ST | 70T 12%

gfdad &1 g 9 3Iuctsy AT |
(iii) T 100 Y¥% % 16,000, 9% FOIAT T TFHT 10% & 53 T o IT

1 wem 9, =), 9i9 91 ©: 99 & 3 H FAtargd e

IR fopwdt ® fopam s -
CL s
-
I 2,00,000
vV 3,00,000
\% 4,00,000
VI 7,00,000

the following amounts of

Capital Withdrawn

5,000

87,000

fohedl s AT o 9T hFaHT F e faeheq & g § o forem qen
1.4.2008 ! U] 1 FAHA o TG |

2008 — 09 ¥ 2013 — 14 98T o U 99% FoMIT Qa1 d¥R ST |

13
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‘Chennai Fibers Limited’ was registered with an authorized capital of

T 40,00,000 divided into 4,00,000 equity shares of ¥ 10 each. The

company had issued 1,00,000 shares and the dividend paid per share was

T 3 for the year 2007 — 08. The management of the company decided to

export its readymade apparels to European countries. To meet the

requirement of additional funds, the finance manager put up before the

Board of Directors the following three alternative proposals :

) Issue of 1,54,000 equity shares at par.

(i1) Obtain a loan of ¥ 15,40,000 from a financial institution for a
period of 5 years. The loan was available @ 12% per annum.

(i1i) Issue 16,000, 9% debentures of ¥ 100 each at a discount of 10%
redeemable in instalments at the end of third, fourth, fifth and
sixth year as per details given below :

Year Amount
<

II1 2,00,000

v 3,00,000

\% 4,00,000

VI 7,00,000

After comparing the alternatives, the company decided in favour of the
third alternative and issued debentures on 1.4.2008.

Prepare 9% debentures account for the years 2008 — 09 to 2013 — 14.

oy fafiee’ 3 T 100 I % 40,000 FHAT M I T 100 Jfd 7 H

Hitrm w frifia =@ & 9 seer smfaa foee | afsn e ger @ e off .
IS YT 3Tee W — T 100 (T 50 Hfw afza)

T qUT A\ I W — I

50,000 3R % [T TG T Y | |t STagehi ol STUT(R LR T3
T e T e T | AT W UTeq s Ui sl JoH qen A= I
W T TR # garand s fean man | gl aeEnd ot o ft 18 qen |t gt |
T, shad JAH TG I(qH IreHT TR bl BgH S T g0 37ded fohu MU
500 33N W qT qH1 i JMEid fh MY 200 T W ATH A g | IFh I
T 80T KL T T | gTor femu U 37T A & 400 7S I T 80 Ul T W YA
Frifora o feam o | 590 ot & oft ofw aftifaa o

ST oMe & fau oy fafiee” i qeaet § srawes Osmmen gfafseat
i |

HAAT
14



‘ifk fefee’ 3 T 10 I % 75,000 FHAT 37T I 6% & g W Fifad w
& fotu strega smmfra fore | afyr i yeer @ o o

TG YT e W — T 2 9fd 3w

T I W — T 3 9fd 31

a0 T Al A= W - AW
72,000 30 % T TG UTed gU | |eft SATIGeh! 1 AT 1 3AeeA H e
T | Ush 3TNk, 3ok S8 600 3TN okl ATeeT TohaT TRT T, 5 YW JT=-T
1 A A& fRT | 38k 3T 1 G W1 L o1 T | 3Heh 9T, gadl
qT SAfE AT [ S | WS T O 500 AT T GEG AT AfH AT B
WA T8 R | 3Eeh 3wt w1 oft geor st forn TR | wr TRy o aEi A @
1,000 3797 I T 8 Wi 379 Ui e g Frifva ot foom mem | A fnifia fepa
T 3T U A & |yt ofw |minferd 9 |
Sueh oieHl & T ‘wifee fafies’ 1 gt o stavaes UsrEn gfafseat
T | 8

‘Vibhu Limited’ invited applications for issuing 40,000 equity shares of
T 100 each at a premium of ¥ 100 per share. The amount was payable as
follows :
On application and allotment — ¥ 100 (including ¥ 50 premium)
On first and final call — The balance

Applications for 50,000 shares were received. Shares were allotted to all
applicants on pro-rata basis. Excess money received with applications
was transferred towards sums due on first and final call. All calls were
made and were duly received except the first and final call on 500 shares
applied by Sharma and on 200 shares alloted to Verma. Their shares
were forfeited. Out of the forfeited shares 400 shares were re-issued at ¥
80 per share as fully paid up. The re-issued shares included all the shares
of Verma.

Pass necessary journal entries for the above transactions in the books of
‘Vibhu Limited’.
OR

67/2/2 15 P.T.O.
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‘Shakti Limited’ invited applications for issuing 75,000 equity shares of ¥
10 each at a discount of 6%. The amount was payable as follows :

On application and allotment — ¥ 2 per share

On first call — ¥ 3 per share

On second and final call — The balance

Applications for 72,000 shares were received. Shares were allotted to all
the applicants. Ashok, a shareholder to whom 600 shares were allotted,
failed to pay the first call. His shares were immediately forfeited.
Afterwards the second and final call was made. Ravi did not pay the
second and final call on his 500 shares. His shares were also forfeited.
Out of the forfeited shares, 1,000 shares were re-issued at ¥ 8 per share
as fully paid-up. The re-issued shares included all the shares of Ashok.

Pass necessary journal entries for the above transactions in the books of
‘Shakti Limited’.

%, @AAT T TH BH H GAIHER 9 A1 3 : 2 : 1 Y § oY died o |

1.4.2014 =1 37h1 feufa faawor fm geem o

ISE AL 25,200 | S 8,200

afosy fafea 3,000 | TR 60,000
= 9= 21,000 | 5T : J@gE 2,000 58,000
4ot @ R 50,000
ED 80,000 IECH 20,000
£c| 73,000 THE 10,000
T 40,000 1,93,000 | wefi=r 96,000
2,42,200 2,42,200
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3T fafer @t 7 3 sraehre wge foRA |

g fota foram e fep -

(i)  ®H I AR I Jedmehd T 5,400 fopam Smam |

(i) WG W 10% 1 Yoag™ TR S |

(iii) e sl 20% ¥ A foha ST@m |

(iv) wfosy ffYy & Tar = 2,500 AT T8 |

(v) T3 T 31,700 ¥ Fasn i o fo= |

(vi) & dun @ A AU qf st oy U ® wutes i 1 i foRn |
35 oY =T @ @il 7T |

T % FTHW TV HH W EHART @Al q¥l FEER Wk Yol @ daR

i |
steraT
3, AR AT TH Teh HH H ATHER & AT 3 : 2 : 1 % UG § oY dfed o |
1.4.2014 st 3eh1 feufa feemor e gepm ot
EGIRCInE 3T 1 =] @l 7,000
an 1,75,000 afiy qor 1.75.000
R 1,50,000 i X 67.500
o 1,25,000 | 4 50,000 | FHi=R 80,000
1 @ IEER 36,500
an 4,000 e foe 17,000
AU 6,000 10,000 | ferfere <em 43,500
A Ho 15,000 | ¥ish 1,37,000
I ESIERCIR) 7,000 | S 43,500
RGN 80,000
% foa 45,000
6,07,000 6,07,000
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3T fafyr =t fm st W Tt T AT @ISR SR TR

(i) T A gt % fTT = 50,000 AT qAT W ATH H 1/6 W T |

(i) % Eufd NfEm & = 9 & fou oevas Uhs awn | B 6
TIT(G T Jedrehd T 90,000 Tk T |

(iii) 7 AT U 2:2:1: 1EAM |

(iv) 92 W YA MU T I foet & fotw & 7,004 sl T <FaT sl Jraeg™
ERIR e

(v) Wi, Beter a1 e i AW i 20% & HH ohan Sm@m w@ | qe
Mo, GI e TR0 sl aTd, SHAST: 20% dAT 10% © S@Ts Sl |

(vi) @TSEN % St @Tal o FHENHE TF hl ISt b SMMEIR W Ik =Me]
Qrdl < wierq | TR s |

YT CATR WTdT, FTHERT o =Te] @Td a9 ATl & Yot @rd dam hife |

A, B and C were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
On 1.4.2014 their Balance Sheet was as follows :

Liabilities Am;“nt Assets Am;“nt
Creditors 25,200 | Bank 8,200
Provident Fund 3,000 | Debtors 60,000
General Reserve 21,000 Less : Provisionﬂ) 58,000
Capital Accounts : Stock 50,000
A 80,000 Investments 20,000
B 73,000 Patents 10,000
C 40,000 1,93,000 | Machinery 96,000
2,42,200 2,42,200

67/2/2 18



On the above date C retired. It was agreed that :

1) Goodwill of the firm be valued at T 5,400.

(i1)  Depreciation of 10% was to be provided on machinery.

(iii)

Patents were to be reduced by 20%.

(iv)  Liability on account of Provident Fund was estimated at ¥ 2,500.

(v) C took over investments for ¥ 31,700.

(vi) A and B decided to adjust their capitals in proportion to their profit

sharing ratio. For this purpose current accounts were opened.

Prepare Revaluation Account and Partners’ Capital Accounts on C’s

retirement.

OR

O, R and S were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
On 1.4.2014 their Balance Sheet was as follows :

P.T.O.

Liabilities Amgunt Assets Amgunt
Capital Accounts : R’s Current Account 7,000
O 1,75,000 Land and Building 1,75,000
R 1,50,000 Plant and Machinery 67,500
S M 4,50,000 | Furniture 80,000
Current Accounts : Investments 36,500
O 4,000 Bills Receivable 17,000
S 6,000 10,000 | Sundry Debtors 43,500
General Reserve 15,000 | Stock 1,37,000
Profit and Loss Account 7,000 | Bank 43,500
Creditors 80,000
Bills Payable 45,000
6,07,000 6,07,000
19



18.

67/2/2

On the above date, H was admitted on the following terms :

1)

(i1)

(iii)

(iv)

(v)

(vi)

H will bring ¥ 50,000 as his capital and will get 1/6™ share in the
profits.

He will bring necessary cash for his share of goodwill premium.
The goodwill of the firm was valued at ¥ 90,000.

The new profit sharing ratio willbe 2:2:1: 1.

A liability of ¥ 7,004 will be created against bills receivables
discounted.
The value of stock, furniture and investments is reduced by 20%,

whereas the value of land and building and plant and machinery
will be appreciated by 20% and 10% respectively.

The Capital accounts of the partners will be adjusted on the basis
of H’s Capital through their current accounts.

Prepare Revaluation Account and Partners’ Current Accounts and
Capital Accounts.

QU @
(foreiar Teramott st forgetwon)

PART B

(Analysis of Financial Statements)

g Y18 faaiul TIR &t 99 RoEl WU T e % WA i auE
SITET -

(i)
(i1)
(ii)

(iv)

FEIGERIGICIBE
forchar wrfafarfer |
e wifafafer |
31 Srerer aun T fafafy |

While preparing Cash Flow Statement, ‘interest paid on debentures’ will
be considered as :

1)
(ii)
(iii)
(iv)

operating activity.
financing activity.
investing activity.

both operating and financing activity.

20



19. TUehrg YaT8 foaor dUR id o9T ‘H3E fafuee’ & wgud 4 7= 9 @me
T AT i T (e 8 §T Ushe Yol shi TMT i o foIg =me] o
o ITYed | Sig faam | = 364 98 9@l foham 2 shror sarsu | 1

While preparing ‘Cash Flow Statement’ the accountant of ‘Keshav

Limited’ added depreciation charged on machinery in the surplus of the
year for calculating Cash Flow from operating activities. Was he correct

in doing so ? Give reason.

20. IO AR, 1956 T G VI WFT I o JTER w6 feufa faawor #
7 wel =t fod-foh gea Sfiveni e IU-3fiSehi o F=aia GRIET SITU 4

i) & srfeufaewd |

(i)  Uhg AT Ushg dcd |

(i)  wfeyfa shiftem |

(iv) T-gT foremor 1 T 39 |
(v) T |

(vi) =T fag (deumh) |

(vii) TE.f.eTE. | g 5 i = |
(viii) Frawr |

Under which major heads and subheads will the following items be
placed in the Balance Sheet of a company as per Schedule VI Part I of
the Companies Act, 1956 :

(1) Bank overdraft.

(ii))  Cash and Cash equivalents.

(i1i)  Securities premium.

(iv)  Negative balance of the Statement of Profit and Loss.

(v)  Goodwill.

(vi) Trademark.

(vii) 5 years loan obtained from SBI.

(viii) Investments.

67/2/2 21 P.T.O.



21. T% HETA 1 RU-GHAT IIG 2 : 18 | R ¢d §Y FAEY fob FHEfaaRaad
TS T TG HS, AT ST IHH I3 UG Tal I
i) ¥ 1,00,000 % 9% T kT e TR |
(i) T 1,50,000 % THaT 3791 it fohu |
(iii) AR o fashar &1 T 2,00,000 & F9dT TR0 AT 719 foham |
(iv) T TMGR gNI SHIT TR T 50,000 1 Th fodd Tiiehd foham mam St o
HTE % YIEId ¢F o | 4

The Debt — Equity ratio of a company is 2 : 1. State with reason whether
the following transactions will increase, decrease or not change the ratio :

1) Redeemed T 1,00,000, 9% debentures.
(i)  Issued ¥ 1,50,000 equity shares.

(ii1)
(iv)

Issued ¥ 2,00,000 equity shares to the vendors of machinery.
Accepted a draft of ¥ 50,000 drawn by a creditor payable after
three months.

22, AAfcH TSl 1 IcdTed adl T & areflt T Hral T Ta fgg Bt
fAfiRe 1 Aey-ame ey YRa’ ® | 39 YHh qT HHAR Hedl, SHHER
qom ARG § | 31.3.2014 S TG §C 99 H HFET H Yg A FMAT &
T | 99 e @ Icmifed hrat 3 19 Aft HenfEl ol U HIE
srfafe Sa= & = Fof fomm |
31.3.2013 AT 31.3.2014 ! HHI §T W o [T HFIT T JATCHE TATH-GTH
e = R @ 7

a9 fg= wmt fafes
TEAATeHS ATH-ETH ferarur

e | 2012-13| 2013 - 14| O %

foram )
qem | ® N it T | e

HRIHAT § 3T 40,00,000 | 60,00,000 | 20,00,000 | 50
21 : hHar & o 24,00,000 | 28,00,000 |  4,00,000 | 16-67
H qd A 16,00,000 | 32,00,000 | 16,00,000 | 100
F 50% T T A 8,00,000 | 16,00,000 |  8,00,000 | 100
Y YT AT 8,00,000 | 16,00,000 |  8,00,000 | 100

() 81.3.2013 T 31.3.2014 ! U T NI % (Y Yg ATH I hl

TUMET iR |

(i) @Wan@ﬁwaﬁﬁq =2 o fee wml fHfiee’ axiftq

HET TTEAT B
67/2/2
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The motto of ‘Nav Hind Pharma Limited’, a company engaged in the

manufacturing and distribution of Aurvedic medicines, is ‘Healthy India’.

Its management and employees are hardworking, honest and motivated.

The net profit of the company doubled during the year ended 31.3.2014.

Encouraged by its performance, the company decided to pay one month’s

extra salary to all its employees.

Following is the Comparative Statement of Profit and Loss of the

company for the years ended 31.3.2013 and 31.3.2014 :

Nav Hind Pharma Limited

Comparative Statement of Profit and Loss

. Note 2012 — 13| 2013 — 14 Absolute | % Change

Particulars No. Change T
< <

Revenue from operations 40,00,000 | 60,00,000 | 20,00,000 5-0
Less : Employees benefit 24,00,000 | 28,00,000 | 4,00,000 | 16-67
expenses
Profit before tax 16,00,000 | 32,00,000 | 16,00,000 100
Tax @ 50% 8,00,000 | 16,00,000 | 8,00,000 100
Profit after tax 8,00,000 | 16,00,000 | 8,00,000 100

67/2/2

(i)

(i1)

Calculate Net Profit Ratio for the years ending 31.3.2013 and

31.3.2014.

Identify any two values which ‘Nav Hind Pharma Limited’ is

trying to communicate.
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23. 31.3.2014 ! fare giaw fefiaee =1 feufa faawo 1 v @ o .

forre uter forfiee
31.3.2014 = feufa ferawor
fhz 31.3.2014 | 31.3.2013
Toraar & T T
I — QUdT 9T ¢IaT :
1. | erwremdr Ao .
(1) ofer gt 48,00,000 | 44,00,000
(9) @=9 W@ AT 1 | 12,00,000 | 8,00,000
2. | A ﬁ?TdTQ' :
[AREARI i) 9,60,000 |  6,80,000
3. Wﬁﬁtﬁnﬁ :
(37) AT CIATd 7,16,000 |  8,16,000
(9) LRI I 2,00,000 |  3,08,000
$A 78,76,000 | 70,04,000
II - gttt
1. | 3T=reT gt
(31) woTe ufEratEt
(i) gd 2 42,80,000 | 34,00,000
(i) 3T 3 1,60,000 |  4,80,000
2. | AT T:
(a1) e few 9,60,000 |  4,48,000
() weeh (W ge) 5,16,000 |  4,84,000
(|) TTieh gTfeaat 6,80,000 | 5,72,000
(3) Uhs TAT Uhg Jod 12,80,000 | 16,20,000
$A 78,76,000 | 70,04,000
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T & e

qﬁz - 31.3.2014 1| 31.3.2013 &I
g.
T T
1 o 12,00,000 8,00,000
YR (-1t forewor &1 2v) e o
2. | 9e uftaratrat
B IE T} 50,80,000 40,00,000
5T : ThiId e aTE (8,00,000) (6,00,000)
3. | oTd Ut
1,60,000 4,48,000
It
STARTE G

9 H wH W, SR @Fa T 96,000 off den N W THGA qous™

T 64,000 o, s T 24,000 § 5= fezr ™ |

Uohg JaTg forawor G Hhifvy |
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Wind Power Ltd.

Balance Sheet as at 31.3.2014

Following is the Balance Sheet of Wind Power Ltd. as at 31.3.2014 :

ol Note| 2013 -14 2012 -13
Particulars No. > =
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 48,00,000 44,00,000
(b) Reserves and Surplus 1 12,00,000 8,00,000
2. | Non-Current Liabilities :
Long-Term Borrowings 9,60,000 6,80,000
3. | Current Liabilities :
(a) Trade Payables 7,16,000 8,16,000
(b) Short-Term Provisions 2,00,000 3,08,000
Total 78,76,000 70,04,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible 42,80,000 34,00,000
(ii) Intangible 3 1,60,000 4,80,000
2. | Current Assets :
(a) Current Investments 9,60,000 4,48,000
(b) Inventories 5,16,000 4,84,000
(c) Trade Receivables 6,80,000 5,72,000
(d) Cash and Cash equivalents 12,80,000 16,20,000
Total 78,76,000 70,04,000

67/2/2
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Notes to Accounts

As on As on
S.No. | Particulars 31.3.2014| 31.3.2013
< 3
1. | Reserves and Surplus
Surplus (Balance in Statement of | 12,00,000 | 8,00,000
Profit and Loss)
2. | Tangible Assets
Machinery 50,80,000 | 40,00,000
Less : Accumulated Depreciation | (8,00,000) | (6,00,000)
| ible A
3 (;)to?i?v“ﬂr e Assets 1,60,000 | 4,48,000

Additional Information :
During the year a piece of machinery costing ¥ 96,000 on which
accumulated depreciation was ¥ 64,000 was sold for ¥ 24,000.

Prepare Cash Flow Statement.

QUE @
(erfrenfora et
PART B

(Computerised Accounting)
18. ‘TH.HTA. F ANIE 7 : 1
()  AEME FY A 39 |
(i) I I A0 |
(i) ETEHTCHS Tl 9T |

(iv) qU-gE (VR fafees) w1 |
‘SQL’ stand for :
1) Simple Queue Line up.
(i)  Sample Question Log.
(iii)  Structured Query Language.
(iv)  Star Listed Questions.
67/2/2 27 P.T.O.



19.

20.

21.

22.

23.

67/2/2

SIETed <8d H T i IH acl 7G  ehie ol 379 B
(i) SO 1 T e |

(i) o I LA & |

(iii) o 1 A |

(iv) 3o i &fast dfed |

The term ‘record’ as applied to database table means :
(1) A record of documents.

(i)  Vertical column of the table.

(iii) Name of the table.

(iv)  Horizontal row of the table.

QTR ATFa <hl faRigareti 1 Sevi@ i |

State the features of accounting software.

ST T ITAM HLd §Y S FHIEM ool S % =N I Jeei@ HIT |

State the steps to construct a ‘Bank Reconciliation Statement’ using
Tally.

“SATYR{T TR YUTTE! o foheal g1 @I TF g1 EiWTSAl I Seoi@ i |
State any two advantages and two limitations of ‘Computerised
Accounting system’.

“gfqef=tra BETET & a7 AU § 2 38k ATHI Sl FHATST |

What is meant by ‘Conditional Formatting’ ? Explain its benefits.
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Q. Set No.

67
/2
/1

67
/2
/2

67
/2
/3

Marking Scheme 2014-15
Accountancy (055)

Foreign —67/2/2

Expected Answers / Value points

Distribution
of marks

3

1

4

Q. Anurag and Bhawana ........ccccceeeeeeinnnene partnership.

Ans.

Anurag’s Sacrifice = 3/10 * % = 3/20 }@
Bhawana’s Sacrifice = 3/10 * % = 3/20

Anurag’s old share = 4/10 + 3/20 = 11/20 }@
Bhawana’s old share =3/10 + 3/20=9/20

Anurag and Bhawana’s profit sharing ratio = 11:9

1 Mark

Q. Deepak, Farukh and Lilly......................... of Farukh.

Ans.
(b) Credited to the Capital Accounts of all partners in their profit sharing ratio.

1 Mark

Q. Give the......oveeereeecereirreecreeeeee, forfeiture of share.

Ans.
Forfeiture of shares means cancellation of shares and treating as forfeited the amount
actually received.

[ or any other suitable meaning ]

1 Mark

Q. ‘Samta Limited’ invited........................... applications was.

Ans. (iv) T 22,875

1 Mark

Q. Kamal and Vimal........ccccevvuevrennirennns correct treatment.

Ans. No, the accountant’s didn’t give correct treatment.
Reason: As credit balance in Profit and Loss Account indicates undistributed profits. It should
have been credited to Kamal and Vimal’s Capital Account.

Alternate Solution:
Journal

Date Particulars LF Dr (%) cr (%)

Profit & Loss A/c Dr. 10,000
To Kamal’s Capital Account 6,000
To Vimal’s Capital A/c 4,000

(Being adjustment entry made)

1 Mark

Q. In the absence of................... is charged.

Ans. (iv) no interest is charged.

1 Mark

Q. State any three purposes.......cccccceeeerceeenns can be utilised.
Ans
The amount received as securities premium can be used other than ‘issue of bonus shares’
for the following purposes : . (Any three)
e In writing off the preliminary expenses of the company.
e For writing off the expenses, commission or discount allowed on issue of shares or
debentures of the company.
e For providing the premium payable on redemption of redeemable preference shares
or debentures of the company.
e For buy back of its own shares.

1 Mark
each

3 Marks
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- 8 - Q. XandY ..cccciiiniinnnnniiinnninneennee error
Ans.
Journal
Date Particulars LF Dr (%) cr ()
2014 | y's Capital A/c Dr. 2,856 1
April 1 To x’s Capital A/c 2,856
(Being interest on capital and salary
omitted, now adjusted)
Working Notes:
Calculation of Opening Capital :
X (X) Y(%)
Closing Capitals 1,30,000 1,00,000 1
Less: Profits (51,000) (34,000)
Add: Drawings 18,000 9,000
Opening Capitals 97,000 75,000
Interest on Capital @ 12% p.a. 11,640 9,000
X Y Total
Omission of Interest on Capital (Cr.) 11,640 9,000 20,640 2
Salary to X ( Cr.) 9,000 9,000 -
Net loss to firm (Dr.) 17,784 11,856 29,640 4 Marks
Net Effect 2,856(Cr.) 2,856(Dr.) -
10 |9 10 | Q. ‘Panipat Blankets Ltd. .......cccccceeeeeerreeenes to the society.
Ans.
Books of Panipat Blankets Ltd.
Journal
Date Particulars LF Dr () cr (%)
i Machinery A/c Dr. 12,00,000
To Vendors A/c 12,00,000 1
(Being purchase of machinery)
ii. Vendors A/c Dr. 12,00,000
To Equity Share Capital A/c 10,00,000
To 9% Debentures A/c 2,00,000 1
(Being issue of equity shares and
debentures at par )
OR
Vendors A/c Dr. 10,00,000
To Equity Share Capital A/c 10,00,000
(For issue of equity shares )
Vendors A/c Dr. 2,00,000
To 9% Debentures A/c 2,00,000
(For issue debentures at par)
b) Values which the company wants to communicate to the society: (Any one)
e Discharging Social responsibility 1
e Generation of employment opportunities in rural areas
(OR any other suitable value.) 3 Marks
9 10 |9 Q. ‘Telecom Ltd......cccooeeeirrrrrnnnnnnnes Companies Act, 1956.
Ans.
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Balance Sheet of Telecom Ltd.
Asat....cccceerreennnnn, (As per revised schedule VI)
Particulars Note No. Amount Amount
Current year Previous year
EQUITY & LIABILITIES
| Shareholder’s funds :
a) Share Capital 1 9,96,000 1
Notes to Accounts :
Particulars T
(1) Share Capital
Authorised Capital :
80,00,000 equity shares of ¥ 10 each 8,00,00,000 1
Issued Capital
1,00,000 equity shares of T 10 each 10,00,000 %
Subscribed and fully paid
99,000 equity shares of ¥ 10 each 9,90,000
Subscribed but not fully paid capital
1,000 equity shares of T 10 each 10,000 9,96,000 %
Less: Calls in arrears 4,000 6,000 =
3 Marks
- 11 | - Som, Sudha and Surbhi........... executors.
Ans.
Dr. Surbhi’s Capital A/c Cr.
Particulars Amount (%) Particulars Amount ()
To Balance b/d Y 24,000 | By Som’s Capital A/c @76,875
To Surbhi’s Executor 1,84,538 | By Sudha’s Capital A/c 76,875
A/c @ By P/L Suspense A/c @ 38,438
By Surbhi’s Loan A/c 16,350 ( 4,
2,08,538 2,08,538 [
Working notes:
i Calculation of Share of Profit :
2,56,250x 1/5x9/12 =% 38,437.50 or X 38,438 -
4 Marks
ii. Share in Goodwill =3 x10,25,000/4 x 1/5= ¥ 1,53,750
Som’s Share =X 76,875
Sudha’s share = X 76,875
12 |12 | 12 | Q. Jain, Gupta and Singh......cccccccccerrrrrreannnne.. the firm
Ans.
In the books of Jain, Gupta and Singh
Profit & Loss Appropriation A/c
Dr. For the year ended 31* March 2014 Cr.
Particulars L Amount (%) Particulars Amount (%)
To Interest on Capital: By Profit for the year 1,47,000
Jain’s Capital A/c 29,400
Gupta’sCapitalA/c 44,100 @ =
Singh’s Capital A/c 73,500 1,47,000 4 Marks
Y%
1,47,000 1,47,000
Working notes:
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Calculation of Interest on Capital:

| © (4

a) Interest on Jain’s Capital: 40,00
60,000

b) Interest on Gupta’s Capital:
c) Interest on Singh’s capital: 1,00,000
2,00,000

Total:

The available profit is ¥ 1,47,000 since the profit is less than interest, the available profit will

be distributed in the ratio of interesti.e. 2:3:5

15 | 13 | 14 | Q. Chopra, Shah and Patel.........cccceeereeiirrrrnnanneeee. amounts.
Ans.
Dr. Realisation A/c Cr.
Particulars Amt () Particulars Amt (%)
To Plant and Machinery 1,60,000 | By Sundry Creditors 1,50,000
To Stock 1,50,000 | By Mrs. Chopra’s Loan 1,30,000
To Sundry Debtors 2,00,000 | By Repairs and Renewals 12,000
To Prepaid Insurance 4,000 | reserve
To Investments 30,000 | By Provision for bad debts 10,000
To Chopra’s capital A/c 1,30,000 | By cash — Assets sold:
--Mrs. Chopra’s Loan Plant 1,00,000
To Cash- dishonoured bill paid 50,000 | Stock 1,20,000
To Cash- Creditors 1,50,000 | Debtors 1,60,000 3,80,000
To Cash- Expenses 8,000 | By Chopra’s Capital- 20,000
Investments
By Loss Transferred to
Partners’ Capital A/c:
Chopra 90,000 A
Shah 60,000 }
Patel 30,000 4 1,80,000
8,82,000 8,82,000
Partner’s Capital A/c
Particulars Chopra Shah Patel Particulars Chopra Shah Patel
%) %) %) ) X) X)
To Realisation 20,000 By Balance b/d 1,00,000 | 1,50,000 20,000
{Investmeaents)
"I'o Realisatio;m Alc/ O\ 90,000 60,000 30,000 | By Realisation 1,30,000 _ .
(Loss) 1 A/c (Loan)
To Cash A/c 1) 1,20,000 90,000 — | By cash A/c o | 10,000{
2,30,000 | 1,50,000 | 30,000 2,30,000 | 1,50,000 | 30,000
Dr. Cash A/c Cr.
Particulars. Amount (%) Particulars Amount (%)
To balance b/d ( ¥ 28,000 || By Realisation A/c— 50,000
To Realisation A/c=Sale of| % 3,80,000 (| (Dishonoured bill)
Assets By Realisation A/c 1,50,000
To Patel’s Capital A/c 10,000 | (Creditors paid)
By Realisation A/c 800q
(Expenses) :
By Chopra’s capital A/c 1,20,000
By Shah’s Capital A/c 90,000
4,18,000 4,18,000
13 | 14 | 15 | Q. On 1-4-2013, Mohan...........ccccereuu.... partners.

2

)

6 Marks
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Ans.Interest on Capital:
Mohan — 1,00,000 x 6 /100 = X 6,000

Allotment A/c

received with premium )

(Being application and allotment money

Sohan —10,73,000 x 6/100x 1/ 12 =% 5,365 2
Date Amount (3) Months Product
1.4.2013 50,000 1 50,000
1.5.2013 60,000 2 1,20,000
30.6.2013 55,000 3 1,65,000
30.9.2013 1,52,000 4 6,08,000
1.2.2014 65,000 2 1,30,000 4
Total: 10,73,000
Note: Full credit should be given if the examinee has done the question correctly by
any other method.
Alternate solution
Interest on Capital of Sohan = (50,000 x 6/100 x 1/12) + (60,000 x 6/100 x 2/12) + (55,000 x
6/100 x 3/12) + (1,52,000 x 6/100 x 4/12) + (65,000 x 6/100 x 2/12) = ¥ 5,365 =
6 Marks
14 | 15 | 13 | Q. Chennai Fibers Ltd........ccccoerrrrrmennnccccernnns 2013-14
Ans.
Dr. Cr.
9% Debentures A/c
Date Particulars LF | Amount Date | Particulars LF | Amount
) )
2009 To Balance c/d 16,00,000 | 2008 | By Debentures 14,40,000
Mar 31 Apr1 | app & all A/c
By Discount on 1,60,000
issse of
16,00,000 debentures A/c 1 16,00,000
2010 To Balance c¢/d 16,00,000 | 2009 | By Balance b/d 16,00,000
Mar 31 Apr1 1
2011 To Debenture 2,00,000 | 2010 | By Balance b/d 16,00,000
Mar 31 | holders A/c Apr1l
To Balance c¢/d 14,00,000 -
16,00,000 @ 16,00,000
2012 To Debenture 3,00,000 | 2011 | By Balance b/d 14,00,000
Mar31 | Holder A/c Apr1
To Balance c/d 11,00,000 @ -
14,00,000 14,00,000 =
2013 To Debenture 4,00,000 | 2012 | By Balance b/d 11,00,000
Mar 31 | Holder A/c Apr1l @ 6 Marks
To Balance c¢/d _7,00,000 -
11,00,000 11,00,000
2014 To Debenture 7,00,000 | 2013 | By Balance B/d 7,00,000
Mar 31 | holders A/c Apr1 @
7,00,000 7,00,000
- 16 | - Q. Vibhu Ltd........cccceeeennnnn. Vibhu Ltd.
Ans.
Books of Vibhu Ltd.
Journal
Date Particulars L.F. | Debit (%) Credit (% )
(i) Bank A/c Dr. 50,00,000
To Equity Share Application & 50,00,000 1
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(ii) Equity Share App & Allotment A/c Dr. 50,00,000
To Equity Share Capital A/c 20,00,000 1%
To Calls in advance A/c 10,00,000
To Securities premium/ Securities 20,00,000
premium Reserve A/c
(Being application and allotment
money transferred to share capital )
(iii) Equity Share First & final call A/c Dr. 40,00,000
To Equity share Capital a/c 20,00,000 1
To securities premium/ Securities 20,00,000
premium Reserve A/c
(Being first call money due with premium)
(iv) Bank A/c Dr. 29,55,000
Calls in advance A/c Dr. 10,00,000
To Equity Share First and final call A/c 39,55,000
(Being first call money received)
OR
Bank A/c Dr. 29,55,000 1
Calls in arrears A/c Dr. 45,000
Calls in advance A/c Dr. 10,00,000
To Equity Share First and final call A/c 40,00,000
(Being first call money received)
(v) Equity Share capital A/c Dr. 60,000
Securities premium A/c Dr. 30,000
To Share forfeiture A/c 45,000 1%
To Equity share First and final call A/c 45,000
/ Calls in arrear A/c
(Being 600 shares forfeited)
(vi) Bank A/c Dr. 32,000
Share forfeited A/c Dr. 8,000
To Equity share Capital A/c 40,000 1
(Being shares reissued)
(vii) Share forfeited A/c Dr. 22,000
To Capital reserve A/c 22,000
(Being balance of share forfeited
transferred to capital reserve A/c) =
8 Marks
Q. Shakti Ltd......ccoccreeerrriccrnnnnennn Shakti Ltd.
Ans.
Books of Vibhu Ltd.
Journal
Date Particulars L.F. | Debit (%) Credit (% )
(i) Bank A/c Dr. 1,44,000
To Equity Share Application & 1,44,000 %
Allotment A/c
(Being application and allotment money
received)
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(ii) Equity Share App & Allotment A/c Dr. 1,44,000
Discount on issue of shares A/c Dr. 43,200
To Equity Share Capital A/c 1,87,200
(Being application and allotment
money transferred to share capital )
(iii) Equity Share First call A/c Dr. 2,16,000
To Equity share Capital a/c 2,16,000
(Being first call money due)
(iv) Bank A/c Dr. 2,14,200
To Equity Share First call A/c 2,14,200
(Being first call money received)
OR
Bank A/c Dr. 2,14,200
Calls in arrears A/c Dr. 1,800
To Equity Share First call A/c 2,16,000
(Being first call money received)
(v) Equity Share capital A/c Dr. 3,360
To Share forfeiture A/c 1,200
To Equity share First call A/c / Calls in 1,800
arrear A/c
To Discount on issue of shares A/c 360
(Being 600 shares forfeited)
(vi) Equity Share Second and final call A/c Dr. 3,14,160
To Equity share Capital a/c 3,14,160
(Being final call money due)
(vii) Bank A/c Dr. 3,11,960
To Equity Share Second & final call A/c 3,11,960
(Being final call money received)
OR
Bank A/c Dr. 3,11,960
Calls in arrears A/c Dr. 2,200
To Equity Share Second & final call A/c 3,14,160
(Being final call money received)
(viiii) Equity Share capital A/c Dr. 5,000
To Share forfeiture A/c 2,500
To Equity share second & final call A/c 2,200
/ Calls in arrear A/c
To Discount on issue of shares A/c 300
(Being 500 shares forfeited)
(ix) Bank A/c Dr. 8,000
Discount on issue of shares A/c Dr. 600
Share forfeited A/c Dr. 1,400
To Equity share Capital A/c 10,000
(Being shares reissued)
(x) Share forfeited A/c Dr. 1,800
To Capital reserve A/c 1,800

(Being balance of share forfeited
transferred to capital reserve A/c)

%

%

%

8 Marks
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17 |17 |17 | Q.ABandC......cccceceerreennnnnnne retirement.
Ans.
Revaluation A/c
Dr Cr
Particulars Amt (%) Particulars ~ Amt ()
To machinery A/c 9,600 | By Provident fund A/c | % 500
To Patents A/c @ { 2,000 | By Investment A/c @ 11,700
To profit transferred to
Partner’s Capital A/c: 2 Marks
A 300
B 200} @
C _100 600
12,200 12,200
Partner’s Capital A/c
Particulars A B C Particulars A B C
) ) ) ) ) )
To C’s Capital 540 360 By Balance b/d 80,000 73,000 40,000
A/c By A’s Capital A/c 540
To Investment 31,700 | gy B’s Capital A/c 360 | 6 Marks
A/c 12.800 By General 10,500 7,000 3,500
To C’s loan A/c ! Reserve A/c
To Current 11,800 By revaluation A/c 300 200 100
A/c By current A/c 11,800
To Balance ¢/d | 1,02,060 68,040
1,02,600 | 80,200 | 44,500 1,02,600 | 80,200 | 44,500
2 marks for Capital A/c of each partner.
Working Notes:
_A’s capital = ¥ 90,260
B’s capital = ¥ 79,840
Total capital = ¥ 1,70,100
Capitals of A and B in new ratio = =
A =3/5x 1,70,100 = 1,02,060 8 Marks
B= 2/5x1,70,100 = 68,040
17 |17 |17 | Q.O,RandS....ccccorrruirireireennerennes Capital accounts.
OR | OR | OR | Ans.
Revaluation A/c
Dr Cr
Particulars Amt () Particulars [\ | Amt ()
To liability for bills @ 7,004 | By land and building A/cw 35,000
discounted By plant and machinery A/c C/; 6,750
To Stock A/c } 27,400 | By Partner’s current A/c
To furniture A/c 16,000 | (loss):
To Investments A/c @ 7,300 | O 7,977
R 5,318 3 Marks
S 2,659 15,954
57,704 57,704
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Partner’s Current A/c

Particulars (o] R S Particulars (o] R S
) ) ) ) ) )
To balanceb/d 7,000 By Balance b/d 4,000 6,000
To revaluation By General reserve 7,500 5,000 2,500
a/c 7,977 5,318 2,659 | By profit and loss 3500 | 2333 | 1167
a/c
Tobalancec/d 97,023 45,015 82,008 / .
By premium for 15,000
goodwill
By capital A/cs 75,000 | 50,000 | 75,000
1,05,000 57,333 84,667 1,05,000 57,333 84,667
Partners’ Capital A/c
Particulars (o] R S Particulars (o] R S
) ) ) ) ) )
To current A/cs 75,000 50,000 75,000 | By Balance b/d 1,75,000 | 1,50,000 | 1,25,000
To balance ¢/d | 1,00,000 | 1,00,000 | 50,000
1,75,000 | 1,50,000 | 1,25,000 1,75,000 | 1,50,000 | 1,25,000

H’s Capital A/c

4 Marks

1

Dr Cr
Particulars Amt (%) Particulars Amt (%)
To Balance c¢/d 50,000 | By Bank A/c 50,000
j =
50,000 50,000 | &Marks
PARTB
(Financial Statements Analysis)
- 18 Q. While.....cccorrrrimmnnnriicennnnnennes activity.
Ans.
(ii) Financing Activity. 1 Mark
- 19 Q. While.......covverernnnnnnnnnnnnnnes reason.
Ans. 1 Mark
He was correct because depreciation charged on machinery is a non cash item.
20 | 20 Q. Under which..........cccceeevrviinnnnnnnne. investments.
Ans.
S.No. Items Headings Sub headings
1 Bank Overdraft Current liabilities Short term borrowings
2 Cash and cash equivalents Current assets Cash and cash
equivalents
3 Securities premium Shareholders’ funds Reserves and surplus
4 Negative Balance of Shareholders’ funds Reserves and surplus
statement of Profit and Loss % x8
5 Goodwill Non current assets Fixed assets- =
intangible 4 Marks
6 Trademark Non current assets Fixed assets-

intangible
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7 5 years loan obtained from Non current liabilities | Long term borrowings
SBI
8 Investments Non current assets Non current
investments
- 21 | - Q. The debt........cccovecrvuvnnnnnnnnes months.
Ans.
Reason
i) Decrease Debt will decrease with no change in equity.
ii) Decrease Equity will increase with no change in debt.
iii) Decrease Equity will increase with no change in debt. 4 Marks
iv) No Change Neither equity nor debt will be affected.
22 |22 |22 | Q. The Motto....coevriiiiiiiiiiiiiiiiiisiissisinnne to communicate.
Ans.
a) Net Profit Ratio
As on 31-03-2013 = Net Profit after tax / Revenue from operations x 100 @
= 8,00,000 / 40,00,000 x 100 @ 2 Marks
=20%
As on 31-03-2014 = Net Profit after tax / Revenue from operations x 100
=16,00,000 / 60,00,000 x 100
=26.67% @
1 mark for formula & % mark for calculation of net profit ratio of each year. 1+ (2 + %) =2
b) Values: (Any two)
e Promoting healthy living.
e Participation of Employees in excess profits.
e Treating employees a part of the company.
e Ethical practices of company 2 Marks
e Hardwork and honesty of employees.
e Serving the organisation with dignity. =
(Or any other suitable value) 4 Marks
23 | 23 | 23 | Q. Following .....ccccccveeencirreennnennnee statement.
Ans.
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Cash flow statement of Solar Power Ltd.
For the year ended 31* March 2014 as per AS-3 (Revised)

Particulars Details (%) Amount (%)
Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items 4,00,000
Add: Non cash and non-operating charges
Goodwill written off 3,20,000/2,88,000
Depreciation on machinery 2,64,000
Loss on sale of machinery 8,000
Operating_ profit before working capital changes 9,92,000/9,60,000
Less: Increase in Current Assets
Increase in trade receivables (1,08,000)
Increase in inventories (32,000)
Less: Decrease in Current Liabilities
Decrease in trade payables (1,00,000)
Decrease in short term provisions (1,08,000)
Cash generated from Operating Activities 6,44,000/
Cash flows from Investing Activities : 6,12,000
Purchase of machinery (11,76,000)
Sale of machinery 24,000
Cash used in investing activities (11,52,000)
Cash flows from Financing Activities:
Issue of share capital 4,00,000
Money raised from long term borrowings — 280,000
Cash from financing activities 6,80,000
Net increase in cash & cash equivalents 1,72,000/
Add: Opening balance of cash & cash equivalents: 1,40,000
Current Investments 4,48,000
Cash & cash equivalents 16,20,000
Closing Balance of cash & cash equivalents:
Current Investments 9,60,000
Cash & cash equivalents 12,80,000
(No marks for cash & cash equivalents)
Working Notes:
Machinery A/c.
Particulars T Particulars T
To Balance b/d 40,00,000 | By Bank a/c 24,000
To Bank A/c (Bal. Figure) 11,76,000 | By Accumulated Depreciation 64,000
By Loss on sale of machinery 8,000
By Balance c/d 50,80,000
51,76,000 51,76,000
Accumulated Depreciation A/c
Particulars T Particulars kS
To Machinery A/c 64,000 | By Balance b/d 6,00,000
To balance ¢/d 8,00,000 | By Depreciation a/c (Bal fig.) 2,64,000
8,64,000 8,64,000

6 Marks
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Notes:

(1) If short term provision is not treated as current liabilities by an examinee:

Decrease in short term provisions will not be shown.

1. |If short term provision is treated as provision for doubtful debts.

e Operating profit before working capital changes will be ¥ 8,84,000 or

% 8,52,000.

e There is no change in the cash flow from the three activities and full credit is
to be given for this treatment also.

2. If short term provision is treated as provision for tax:
Net profit before tax and extraordinary items will be ¥ 6,00,000.

e Operating profit before working capital changes will be ¥ 11,92,000 or X
11,60,000.

e Cash generated from operations before tax will be ¥ 9,52,000 or ¥ 9,20,000

e Tax paid off T 3,08,000 will be deducted for calculating cash from operating
activities.

e There is no change in the cash flow from the three activities and full credit is
to be given for this treatment also.

3. If short term provision is treated as proposed dividend:

Net profit before tax and extraordinary items will be ¥ 6,00,000.
e Cash from operating activities will be ¥ 9,52,000 or ¥ 9,20,000
e Cash used in investing activity will remain samei.e. ¥(11,52,000)
e Cash from financing activity will be ¥ 3,72,000

(1) If current investment is treated as current asset by an examinee:

Increase in current investment < 5,12,000 will be deducted from operating

profit before working capital changes.

1. |If Short term provision is treated as current liability:

e Operating profit before working capital changes will be ¥ 9,92,000 or X
9,60,000.

e Cash from operating activities will be ¥ 1,32,000 or 1,00,000.

e Cash used in investing activity will remain same i.e. ¥ (11,52,000) and cash
from financing activity will also remain same i.e. ¥ 6,80,000.

2. When short term provision is treated as proposed dividend:
Net profit before tax and extraordinary items will be ¥ 6,00,000.

e Operating profit before working capital changes will be ¥ 11,92,000 or ¥
11,60,000

e Cash from operating activities will be ¥ 4,40,000 or X 4,08,000

e Cash used in investing activity will remain samei.e. ¥ (11,52,000)

e Cash from financing activity will be ¥ 3,72,000

3. When short term provision is treated as provision for tax:

e Net profit before tax and extraordinary items will be ¥ 6,00,000.

e Operating profit before working capital changes will be ¥ 11,92,000 or ¥
11,60,000

e  Cash generated from operations ¥ 9,52,000 or ¥ 9,20,000

e Tax paid off X 3,08,000 will be deducted for calculating cash from operating
activities.

e Cash from operating activities will be ¥ 6,46,000 or ¥ 6,14,000

e Cash used in investing activity will remain samei.e. ¥ (11,52,000)

e Cash from financing activity will be ¥ 6,80,000 or ¥ 6,48,000

4. |If short term provision is treated as provision for doubtful debts:
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e Net profit before tax and extraordinary items will be ¥ 4,00,000.

e Operating profit before working capital changes will be ¥ 8,84,000 or
8,52,000.

e Cash from operating activities will be ¥ 6,44,000 or ¥ 6,12,000

e Cash used in investing activity will remain samei.e. ¥(11,52,000)

e Cash from financing activity will be ¥ 6,80,000 or 6,48,000

PART B
(Computerised Accounting)
19 | 18 | 18 | Q. ‘SQL’ stand......cccceerrunranee questions.
Ans. 1 Mark
(i) Structured Query Language
18 |19 |19 | Q.The term..........ceeeuuees of the table.
Ans. 1 Mark
(iv) Horizontal row of the table
21 | 20 | 22 | Q. State the features................. software.
Ans.
Following are the features of accounting softeware:
1. Do all basic accounting functions,
2. Manage your stores,
3. Do the job costing,
4. Manage payroll, =
5. Get many MIS (Management information System) 4 Marks
6. File tax returns
7. Maintain budgets etc
8. Calculate interest pending amounts
9. Manage data over different locations and synchronize it and many more other
features
22 | 21 | 20 | Q. State the steps......cccevrrvvennnniiennns using Tally.
Ans.
The following are the steps to construct BRS in tally:
i Bring up the monthly summary of bank book.
ii. Bring your cursor to the first month and press enter. This brings up the vouchers for
the month. Since this is a bank account, an additional button F5 : reconcile will be
visible on the right Press F5. =
iii.  The display now becomes an Edit screen in Reconciliation mode. The primary 4 Marks
components are : A column for the ‘Bankers Date’.
iv.  The ‘Reconciliation’ at the bottom of the screen.
V. Balance as per company’s books.
vi.  Amounts not reflected in banks
vii.  Balance as per bank.
20 | 22 | 21 | Q. State any two................. System.
Ans.
Advantages of CAS
Following are the advantages of computerized accounting system (CAS) (Any Two)
1. Timely generation of reports and information in desired format. 2

2. Efficient record keeping.
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3. Ensures effective control over the system.
4. Economy in the processing of accounting data.
5. Confidentiality of data is maintained.

Limitations of CAS
Following are the limitation of CAS software: (Any Two)

1. Faster obsolescence of technology necessitates investment in shorter period of time. 2
2. Data may be lost or corrupted due to power interruptions.
3. Data are prone to hacking.
4. Un-programmed and un-specified reports cannot be generated. =
4 marks
23 Q. What is...cccceereenerrenannnns benifits.
Ans
A format change, such as background cell shading or font color that is applied to a cell when
a specified condition for the data in the cell is true.
Conditional formatting is often applied to worksheets to find:
e Data thatis above or below a certain value.
e Duplicate data values. =
6 Marks

e Cells containing specific text.
e Data thatis above or below average.

e Data that falls in the top ten or bottom ten values.
Benefits of using conditional formatting:
e Helps in answering questions which are important for taking decisions.
e Guides with help of using visuals.
Helps in understanding distribution and variation of critical data.
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